Drum Collector parameter HZA|

E{ driver7} Q!&L|CL)

XO|XM| £ B Ct2ut 20| 482 =elgtL(t

(Xt HAA statE 4 2 0|8510] pointZ 0| SA|H HAA UL CLOIESH, 00. =>0.0)

1. 02 =2 35, 0|0{M @S =2C} =>PR....r00FA| &

2. 715 e H 45 2 (00) 2 (0.0)2 THE 2, U4 HAE 0[8510 r2022 HZFEA|ZL|CE =>PR...20 FA|
3.9 & £E =, 300 ==X} =tolgtL|C}t. (TteF =X}7t CtE2M SiatHE 0| 83610 3000 2 HZABHL|CT)

4.2 £2 1 =>PR..20 EA|

5. 0|0|A @S 2T EE....SET HEA|

6. 0|0 ® 2 S+ZW EEP_HA|

7. 0|0{ X S} HAE ZAH =2, Finish EA|

8.%tH| OFFZ C}A| ON



XEE XA, 278X JEIE MA D] 2ITHAFIHAM, BX|AME B2

ré7, r68, r69 parameter Z}2 322 HZASICL.
HA =M= Ch3at Z25L )

O

ointE O|SA|H HAAYLICL(GEEH, 00. =>0.0)
>PR.....r00EA| =

ol
Mot
n

o)

1.
2. 55 2t 2 0IE &, SlAHAZ 0|8810] 6792 HAA|ZLICL =>PR...67 EA|
3.9 2 L2 35, 3 £X| ZOIghL|C} (TtoF X7t CIEM SIAFEE 0|23510] 302 HZABHL|LC})

4. 2 $21 =>PR..20 EA|

5. 0|0{M @S 2 EE...SET HA|

6.0|0JA ® S +20 EEP_HA|

7.0|0| M 24 HAE Z7 +EH, Finish EA|

8.XHH| OFFZ CIA| ON



1. DrumO| 3| & SIX| Qb= 42,

- 3| Mes MAMORZ display E|X| D £
efo| 2l WEo| O|%t £ EfO[Y Ea3|o| LHEE(RELI) Z2of o3t BB|TO| o3 HQIX
(EAIAFE : 2B coverE M}, RE % 9 drum %o| E2/o] ARAENE M

59| 2H = o 2| JEj=ll)

2. Drum Collector £tz & 31
- Oteti el gfaf 7| AE Z2d0] BHX| @i 8%
fab i Ef 208 20| "250~350", 218 20|

EE PECEEE JINDE IR

_)I\_% HFAH Al
Al

A 2t
~1" el Lo 2-E0 UA=K| =2el.

O\

il
J

3. Drum Of ®lz 2FAM A
- E2to|t{o| matm|Et 208 gt “200~450", 217t "0~2", 227t "0~3" HLILHO M 3| ™ ==

AH™SIHM M™ZF &HOFA =,

4. Drum BHYES HBE FS
-.Ecto[H of mf2tH EfF 41O A B Z oLt
2740 0" 2 B, AARIT e o[ HO[1, "1"Y B AAYL2 2 3| HetCt

S.EHZAIA 5 8A Hi, efzte| 2d0] 2fsl MM S| SXIAE B2
M

-.C2jo|t mjetoEt “ 67, 68, 69 " S “3' o2

ot 22119 ~~)0| e = ASLCh
L

2ol (X SEoA E- S 2[HAIZ|H 2o



X-axis & Y-axis Robot HZA|

ZZ AR 90% A8\ A7l A

= coverE EH, APZla} Z2 RE driverZt ASLICE : ST XF, 52 Y&F 22 E2lo|HE &5LL)

XO| M e CHaat 20| &g golghct.
(=Xt HAA staE 4 S 0|8810] pointE 0| FA|7 HAAIULICLOIEEH, 00. =>0.0)
2rC

O.—.—_,_
1l

1. O 7€ & 00 @2 + =>PR....r00E A| &
2. 35 ot B 4E =2 (00) = 0.0)2 U= =, ?at“ AE 0|8310] 2122 HZAA|ZL|CE =>PR..21 T A|

3.0 E £ =, 350~400 HQILY =X} SolgtL|Ct. (DtQF =Xt7t CtE2™ sS4 EE 0| 2310 350~4000 2 HATIL|CE)
4. ®E F£21 =>PR..21 EA|

5. 0|O{A| @S -2 0 EE....SET EA|

6. O|0{Al & S S=E2H EEP_EA|

7. 0|0{ M S HAE ZH +2H, Finish EA|

8.ZHd| OFF= C}A] ON



